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To indicate the correct answer, the candidate has to fill in only
one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If
the candidate does not want to answer any question then the

fifth option/circle ‘(E)’ should be darkened.
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each wrong answer. (A wrong answer means an incorrect answer

or more than one answers for any question).
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she has filled up any one option/circle for each questions.
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Ifthere is any sort of ambiguity / mistake either of
printing or factual in nature in Hindi or English
version of questions, then the English Version will
be treated as final.
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Use of Mobile Phone / Bluetooth Device or any
other electronic gadget in the examination hall is
strictly prohibited. If any such prohibited material
is found with any candidate, strict action will be
taken against him/her as per rules.
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Warning : If a candidate is found copying or using

unfair means or if any unauthorized material is found

in his/her possession, F.I.R will be lodged against him/
her in the Police Station and he/she would be liable to
be prosecuted under State Public Examination

(Measures for Preventions of Unfair Means in

Recruitment) Act. 2022 and Amendment Act 2023. The

act has provisions of imprisonment of 10 years to life

and fine up to X 1 crore. Board may also debar him/her
permanently from all future examinations conducted by
the Board.
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When vinegar is added to baking soda a gas is
liberated which when passed through lime water
makes it milky. The gas is:

Choose the most appropriate answer from the
options given below:

(A) Hydrogen

(B) Oxygen

(C) Carbon dioxide

(D) Nitrogen

(E)  Question not attempted

S SIfeT "ieT § Reewr framar S ® a7 e e
e & S < 35 et 2 sy i ST O TR
EERIEREC IR RRICES

frfafaa faeredt # & @aifas 3ag® ST IA:
(A) EIEgRE

(B) TS

(C) e SEHATHFATES

(D)  ATEISH

(E) rgaid 9

Which of the following is a physical change?
Choose the most appropriate answer from the
options given below:

(A) Rusting of iron

(B) Crystallisation

(C) Bursting of crackers

(D) Digestion of food

(E)  Question not attempted

R o & S-ar ifews afedT 82
Frerferfiae et & & watfores sugw a0
(A) AIg H ST RET

(B)  foreetiartor

(C) YT M

(D) N T I

(E) Srgaiaug
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Which of the following fruits and vegetables
change their colour, when after cutting, they are

kept open for some time?

a. Apple b. Tomato
c. Potato d. Brinjal
e. Carrot

Choose the most appropriate answer from the
options given below:

(A) a,bandconly (B) b,canddonly

(C) c,dandeonly (D) a,canddonly

(E)  Question not attempted

frefcIRad & & -8 %o 7R Afosral e & 918
FO T o Tor o T W9 T # qitEd T
A &7

a. ¥ b. AKX

c. L d. om

e. TSR

e faw T foreredt 7 & wrafferes Suge SO

(A) HdTa, b3 c (B) Hadb, c3Fd
(C) addc,d3Me (D) Hada,c 3 d
(E) raid o

Pichola lake is located at which place in

Rajasthan?
(A) Kota (B) Udaipur
(C) Jaipur (D) Bikaner

(E)  Question not attempted

TOr=sTeT et Treteer & foher Tor ot fera 29
(A) e (B) IR
(©) SR (D) BT
(E) 3rgaid 9%
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Which of the following rivers is associated with
the Bay of Bengal drainage system?

Choose the most appropriate answer from the
options given below:

(A) Chambal (B) Mahi

(C) Sabarmati (D) Jakham

(E)  Question not attempted

frafafad @ e 7 e Hr e s aT g
wHeifer 82

frfeiad fospedt 4 & wafieres 3ug ST
(A) T=&d (B) &l

(C) HreRwdr (D) STEH

(E)  3Tgaied o=

Which one of the following rivers does not flow
in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Mahi (B) Luni

(C) Banas (D) Subarnarekha
(E)  Question not attempted

frfefaa ® o S-Hf Tt Teteer # T et 22
frfeRad foskedt @ & wafiere Iug ST
(A) T ®)

(C) (D) el Y@ / eoRr
(E) orpaiaug

Which of the following National Highways pass
through Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) National Highway no - 4

(B) National Highway no - 10

(C) National Highway no - 11

(D) National Highway no - 208

(E)  Question not attempted

freafafead & @ wF-ar adis gemnt o 9
R ST 82

frfafiaa faereat o & @aifas 3ug® ST IH:
(A)  TSET TSHT E6&3AT - 4

(B) USH TSN €& - 10

(C) TS TSR G - 11

(D)  TUSHRT TSHAT ST - 208

(E) Srfaiayy
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How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the

options given below:

(A) One

(B) Two

(C) Three

(D) Five

(E)  Question not attempted
Teh 32 o SATHTIE § foha AT it 22
ettt bt 2 & warfores Suge a0
A) T

(B) ar

(C) o=

(D) U=

(E) I g

Bleeding from all natural orifices and distress
trembling is important clinical symptom of which
of the following diseases?

Choose the most appropriate answer from the
options given below:

(A) Hemorrhagic septicemia

(B) Rabies

(C) Anthrax

(D) Black Quarter

(E)  Question not attempted

aft wrRfae S ¥ ThETE ST Sudd g
frfafed # & form T &1t Aecal Jerte
G 22

frfaiaa fosredt # @ @aifae 3ugw ut 91:

(A) TedrdSes acdiifimr
(B) W=
(C)
(D) I FATL
(E) 3Idia g
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10  Match List-I with List-II.
List-I List-11
(Farm animals (Caused by)
disease)
a. Anthrax I.  Protozoa
b. Cowpox II. Hypocalcemia
c. Coccidiosis III. Bacteria
d. Milk fever IV. Virus
G=fi-1 o @rer g=i-11 1 et i)
-1 Tei-11
(Tt o TPt ok TNT) (HEh)
a TUEE I RS
b. TR I ETEUiehaHTTT
(T
c. ifeAE ML Sam ()
d. oo fiaw V. fam (amerE)
(¥ <)
Choose the most appropriate answer from the
options given below:
i fe T foreredt & @ watferes 3ugT IO A
(A) a-ILb-Ic-1IV,d-1
(B) a-IILb-1V,c-1,d-1I
(©) a-I,b-I,c-1IL,d-1V
(D) a-1L,b-Lc-1V,d-1I
(E)  Question not attempted / H@ﬁﬁﬁ Iq
11  To which area of Rajasthan does Shree Lal Joshi,
a Phad artist belong ?
Choose the most appropriate answer from the
options given below:
(A) Jaipur (B) Jhalawar
(C) Kota (D) Bhilwara
(E)  Question not attempted
IS AT 2T AT SRt 3BT FFarwey TSTEIT o ford
SERC R
frfafeaa faeredt § & @aifaes 39g® ST IA:
(A) S (B) HTTETg
©) = (D) whewaret
(E) Srgaiaug
DEF-Bl14] 9@
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Which fort in Rajasthan was called the armoured
fort (Bakhtarband Durg) by Abul Fajal?

Choose the most appropriate answer from the
options given below:

(A) Kumbhalgarh (B)
(C) Ranthambore (D)
(E)  Question not attempted

A I  ToTET | feord o foet ot Sreaeaig
forcT e 82

Nahargarh
Taragarh

frfafad fospeat # @ watfae sagw® S0 T
(A) TG (B) ARG

(C) TrEmR (D) dWETE

(E) raid o

What are Pateliya, Bichhiyo and Lalar?

Choose the most appropriate answer from the
options given below:

(A) Folk dances

(B) Folk songs

(C) Folk drama

(D) Folk musical instruments

(E)  Question not attempted

frefeTRad fospeat @ & wafiere Iag ST
(A) @RI (B) @k iid

(C) < AeH (D) ¥k 9T I
(E) 3rgaid 9

The total number of students in a school was 750.
As a result of new admissions in the school, the
number of boys increased by 11% and the number
of girls increased by 20%. If the total number of
students in the school became 846, then what is
the number of girls now?

foreft fommerr o fornfeiat 1 e dwam 750 of
foremera o U STfaett o aftonm Taey et i g
T 11% gfg T ARt 1 €& § 20% I T
afe feramerr 7 fomnfoft i e e 846 B T

e sht HT HEAT T 82

(A) 150 (B) 180

(C) 192 (D) 168

(E)  Question not attempted / 31@?!‘?(?[ I
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Divide T 1,727 into 3 parts so that their amount
after 3, 4 and 5 years respectively may be equal,
the rate of interest being 5% per annum at simple
interest. The second part is:

% 1,727 o1 T T H 39 Wh ST foh 5% aTioieh
HTLROT ST & 0 ShHET: 3, 4 AT 5 I qene T
TRt SRS 1 T A1 €

(A) %690 (B) T552

(©) %575 (D) 600

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

On simple interest certain sum of money amounts
to ¥ 18,130 in 6 years and to ¥ 20,090 in 8 years.
Find the rate of interest.

HTETT ST T SRIRT 6 I8 H T 18,130 B AT
AT 8 T HZ 20,090 T ST 21 AT T T T B
(A) 6% B) 7%

©) 8% (D) 8.8%

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

The compound interest on T 4,000 at 10% per
annum for 1% years, interest compounded half
yearly is:

24,0009 | 5 a3 fore 10% AT 5 srgeniies
AT B ATCAT Tohafg T 2

(A) T 600 (B) % 620.50

C) 625 (D) % 630.50

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99

Keoladev National Park is famous for

Choose the most appropriate answer from the
options given below:

(A) Tiger conservation

(B) Migratory birds

(C) Lion conservation

(D) Elephant conservation

(E)  Question not attempted

FHaced T ITH % foTu wferg 21
et fospedt 4 & wafferes 3ug ST
(A)  <rar s

(B) et gefiat

(C) Tz (3) deeqor

(D) gt |eeur

(E) Srgaiaug
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“Chipko” movement in Himalayan region was
held to resist against

Choose the most appropriate answer from the
options given below:

(A) Hunting

(B)  Cutting of trees

(C)  Over exploitation of forest resources

(D) Road construction in hilly regions

(E)  Question not attempted

femrertt & § “faueRr stide %
foreg, witrrer o fore foam mmarm om

frfaiad foredt 7 @ @aifae 3ugw 3ot I1:
(A) e (freRr )

(B) et b shets

(C) o GETEET ot 31f Sre

(D) UETET &mll H wgeh fmior

(E) I g

Which of the following trees is not found in the
tropical thorn forests of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Rohira
(B) Khejri
(C) Bair

(D) Bamboo

(E)  Question not attempted

frfafed & a8 98 TSI & IR
IR T T &l T STel?

frfafad fosreat # @ watfas sagw S0 TH:
(A) st

(B) WS

© =

(D) =™

(E) 3Iqdia g4
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Which of the following physiographic regions of
Rajasthan share’s its boundary with Madhya
Pradesh?

Choose the most appropriate answer from the
options given below:

(A) Semi-arid region

(B) Aravali region

(C) South-eastern plateau region

(D) Western desert plains region

(E)  Question not attempted

TeTE 1 fefafad 8 @ si-a7 difas & mer
TQIT o |1 7T EHT | ST 22

frfafaa fosredt & & aaifere sug ST TH:
(A) 3T &t

(B) et &

(C) Sferorgefl wart &=

(D) ufset Heeorel e &

(E) a9

Tropic of Cancer passes through which of the
following regions of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Bhilwara

(B) Jhalawar

(C) Banswara

(D) Sirohi

(E)  Question not attempted

heh 1@ USTEI o ffcTiad & § fordt & § Bt
e 27

frfafiaa faeredt o & @aifae 3ug® ST IA:
(A) e

(B) dHrdTEmg

(C)  sgaTST

(D) ferret

(E) 3rgaid 9

A"
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A flap like elastic cartilage which acts as a switch
between the esophagus and trachea is:

Choose the most appropriate answer from the
options given below:

(A) Pharynx

(B) Larynx

(C) Epiglottis

(D) Bronchus

(E)  Question not attempted

Th FAT (Tool) SET Ty STy AT S
SHIHITE (TTET) 3T 2R (araeett) o st fa=r
1 wife hrd Al B, T8 R -

oo frchedt & & wratfires 379w S
(A)  Sitea/met

(B) /s

(C) udidien

(D) S=rE

(E) rgaid 9

Haemoglobin is present in

Choose the most appropriate answer from the
options given below:

(A) White blood cells

(B) Red blood cells

(C) Platelets

(D) Both white and red blood cells

(E)  Question not attempted

BCS TTT STTaT 8-
frfafad fosreat # @ watfas sagw S0 TH:
(A) AT T HIRTREST T
(B) Tl Th hIfNTeRISAT
(C)  TfEhIT (wrecie) |
(D) ST AT 37 AT Th DRI H
(E) I o
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Which of the following techniques is suitable for
the disposal of bio-medical waste?

Choose the most appropriate answer from the
options given below:

(A) Reuse

(B) Landfill

(C) Disposal in running water

(D) Incineration

(E)  Question not attempted

fcrfad o & s -d aehiieh Sia- e sTafire

o e % fore swes 22

frfafaa faeredt # & @aifaes I9g® ST IA:
(A) T IR

(B) S

(C) o&d UMt 8 fueH

(D)  HEHIRTT

(E) a9

Streptomycin, tetracycline and erythromycin are
the examples of-

Choose the most appropriate answer from the
options given below:

(A) Antibodies (B) Antibiotics
(C) Preservatives (D) Bacteria

(E)  Question not attempted

TSR, TSI TR SHeTTSiaT
frefefiad o 3aret &-

frfafaa fosredt & & aatfere suges ST T
(A) T (ot

(B) wrarfeH (wfcrstfarer)

(C) Uit

(D) ST/ Sftamy

(E) Srfaiays

27

28

Which of the following statements is incorrect
about the image formed by a convex mirror?
Choose the most appropriate answer from the
options given below:

(A) Itis virtual and upright.

(B) Itis formed behind the mirror.

(C) Itis formed on the same side of the object.
(D) It is smaller than the object.

(E)  Question not attempted

e 0T o GRT 4 a1l Tferferar 3 s A fferfiaa
T @ hIF-HT U TTeld 27

frfaRaa foeredt # @ waifae 3ugw € I1:
(A) 3 el ST Een ar )

(B) ATyl o Ui ST B

(C) I Tq aTet AT & & sar 2

(D) 3T ¥ BieT BT 2

(E) rgaid 9

Diffused reflection is caused by:

Choose the most appropriate answer from the
options given below:

(A) TIrregular surface of the reflector

(B) Plane mirror

(C)  Bright and smooth surface

(D) Concave lens

(E)  Question not attempted

forafea (erfafir) qead saeh swor 8T -

ffafad fasheat # @ waifas sugw® ST I
(A) WEdes i AT gag
(B) HHd YU
(C) =TIt IR el Tae
(D) 9 |
(E) 3Idia g
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is mostly used as side mirror of
vehicles.
Choose the most appropriate answer from the
options given below:
(A) Concave mirror (B) Convex mirror
(C) Plane mirror (D)
(E)  Question not attempted

T IWANT HAThaL AT o T T o6
&0 H foa ST 21
frefeiad fospedt 4 & aafieres 3ug ST
(A) AU (B) 3O gUU
(C) "HAAZYT (D) Addd g
(E) 3Tl o1

Which dialect of the Rajasthan is spoken in the

Concave lens

region of Churu?

Choose the most appropriate answer from the
options given below:

(A) Wagadi (B) Malawi

(C)  Shekhawati (D) Hadoti

(E)  Question not attempted

TSTEIT o =& &1 5 -6 sl il STt 82
frfeRad fospeat # & wafiere Iug ST
(A) amTEr (B) e

(C) @& (D) T

(E) Srgaiaug

“Rane Jagpat ra Marasya” was written to mourn
the death of-

Choose the most appropriate answer from the
options given below:

(A) Maharana Kumbha

(B) Maharana Jagat Singh

(C) Sant Namdev Ji

(D) Rao Indra Singh

(E)  Question not attempted

T ST T AT Tl e 3T 11k Johe it o6
for foram mam?

frfafead faeredt # & @aifaes Iag® 3T IA:
(A) WERNTEHT  (B) HERIVT SId fe
(C) @admeast (D) Tag=fie

(E) 3rgaid 9
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“Jeen Mata”, the eight armed goddess is
considered the incarnation of which Goddess?
Choose the most appropriate answer from the
options given below:

(A) Durga (B)
(C) Gayatri (D)
(E)  Question not attempted

ST eft “<Sfror 7T fope St 2T STarar AT STt
&

Lakshmi

Saraswati

frefetRad fospedt @ & aafieres Iag AT
(A) g (B) oreHt

(C) Tt (D) wEdr

(E) raid o

According to modified budget 2024-25 of
Rajasthan, how much money is allocated under
“Doctor Shyama Prasad Mukherjee Zila Utthan
Yojana”?

Choose the most appropriate answer from the
options given below:

(A) 300cr (B) 500cr

(C) 700 cr (D) 900 cr

(E)  Question not attempted

TEI & UiEfdd ase 2024-25 & STER
YT Srrfed 1 s 29

frefetRad fospedt o & wafferes 3ag S T:
(A) 300 FS (B) 500 FIS

(C) 700 FS (D) 900 FS

(E) rgaid o

In Rajasthan (SEZ) special economic zone for
handicrafts has been established at:

Choose the most appropriate answer from the
options given below:

(A) Bhiwadi (B)
(C) Boranada (D)
(E)  Question not attempted

TS H EEARTe o fort forRie smiies & werfua
[ERIRICIES

Bhilwara
Sitapura

frfafad fasredt 7 @ waifae 3agw® SR TH:
(A) TrarE (B) fierarer
(C) SRATET (D) ®aTqu
(E) ¥ g
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Who has been awarded the Padma Shri Award
2024 from Rajasthan in the field of social work?
Choose the most appropriate answer from the
options given below:

(A) Ms. Maya Tandon

(B) Mr. Kumar Manglam Birla

(C) Mr. Laxman Bhatt Tailang

(D) Mr. Janki Lal

(E)  Question not attempted

TSTET & WTHTISTeR hrd o &1 H 0rft T, 2024
o fordt g fopam mram?

frfaRad foskeat @ & @afiere Iug ST
(A) Gt HET IS

(B) o AR e forgett

(C) =it T&wT g deiT

(D)  off STt Tt

(E) 3gaiid o

Name the fort built by Maharaj Surajmal in 1733.
Choose the most appropriate answer from the
options given below:

(A) Jalore fort (B)
(C) Churu fort (D)
(E)  Question not attempted

1733 T HERIST FLsHe g1 (e febet o1 =1 €-
frfafad faeredt @ & @aifaes 3ag® 3T IH:
(A) SeRfear  (B) <iETe fohar

(C) =& fehall (D) TR feRet

(E) 3Tl o1

Lohgarh fort
Gagron fort

Which famous temple was constructed by the

legendary Bappa Rawal in the 8th century?
Choose the most appropriate answer from the
options given below:

(A) Eklingji temple

(B)  Shrinathji temple

(C) Jagdish temple

(D) Rishabhadev temple

(E)  Question not attempted

gt SraTedt # ST Uad g foRE Wfes AfeT
fmToT tar e

frfafad faeredt # & @aifaes I9g® ST IA:
(A) TUhfcmstaft<t (B) et aft

(C) wEmraft (D) =Ru9ed Afet

(E) Srfaiays

38

39

Stainless steel is made by mixing iron with
a. Carbon b.  Nickel and chromium
c. Magnesium d. Manganese

Choose the most appropriate answer from the
options given below:

(A) a,bandconly (B)
(C) a,canddonly (D)
(E)  Question not attempted

THAE T I e | 95 it et s St

b, c and d only
a, b and d only

-

a. e b. Thet SR shiftem

c. Wiy d. e

i faw e fohedt & & watferes Suge ST 9A:
(A) HaTa, b3 c (B) Hadb,c3Nd
(C) odcTa,c3d (D) Hada,bFd
(B) 3Igdia g

Match List-I with List-II.

List-I List-II
(Project/festival) (Place)

a. National park I.  Jaisalmer

b. Desert festival II. Sambhar Lake
c. Ramsar site III. Ranthambore
d. Braj Holi IV. Bharatpur
-1 % wrer geft-11 a1 fore ifsg

a1 -1
(fETEER) ()

a. USRI U I SR

b. SIS HRead I g

c. THER TS M1 TR

d. SRTErAt IV. QR

Choose the most appropriate answer from the
options given below:

i few o forepeat & & waifare Suge ST T
(A) a-Lb-Ilc-I,d-1V

B) a-ILb-Lc-I,d-IV

) a-Lb-Ic-II,d-1IV

(D) a-ILb-MLc-1,d-1V

(E)  Question not attempted / agﬁﬁ—cr I

[ Contd...



40  Which of the following cultural/ tourism events
in Rajasthan will appear first in the year (English
Calendar, 2025)?

Choose the most appropriate answer from the
options given below:

(A) Camel festival

(B) Kite festival

(C) Baneshwar fair

(D) Braj Holi festival

(E)  Question not attempted

TSTEAT H Y 2025 (FUSH Helvew) % SHTAR e 3§
Y T g M Il eda/ Te HRIHH HT Ta
-

frfeRad fospeat o & wafiere 3ug ST
(A) Fe3HT

(B) UdT WElcEd

(C)  STorE o

(D) ST Bl Hatce

(E) 3Tl o=

41 The Nagoya Protocol in access and benefit
sharing was adopted under the aegis of:

Choose the most appropriate answer from the

options given below:

(A) The convention on Biological Diversity

(B) Preinvestment Survey of Forest Resources

(C) National Centre for Biotechnology
Information

(D) The Zoological Survey of India

(E)  Question not attempted

YAl Td Y WEEH W T Wb

% ST SR T TS|

Freiferfa et 3 & wrartfores 3w 3w

(A) S fafaear wfer

(B) ¥t SR U AT BiEe s

(C) A Y BR TRATEHTATSIT SHREI

(D) W qToft Eaeqor

(E) Srfaiayy

DEF-Bl14] 9@
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43

First ‘National Space Day’ was observed on 23"
August 2024 because:

Choose the most appropriate answer from the
options given below:

(A) 23" August is the birthday of Father of

Indian Space Programme

(B) 23" August is the date of foundation of
ISRO

(C) Indian MARS Mission was launched on
23" Aygust

(D) India became the fourth country to land on
the moon and the first to reach the Southern
Polar Region on 23™ August 2023

(E)  Question not attempted

U TSA SFafer fiaw 23 3rEd 2024 W R
HATAT T™T?

frfafad fosreat # @ waifas 3ugw® S0 T

(A) 23 ITTET Sl TR ST Hrish o fUar T
SFRfET ®

(B) 23 3TTEA oI SHU ol TATIHT 8%

(C) I o HITCT ST T 23 IATEA bl ILIH
§31T

(D) WA g o i T 3L 1T =rqe o1 ST
31T 23 STTEd 2023 1 Afeaoft gy &= H gt
ITAT IEAT 39T

(E) I g

Which of the following is not an alloy?
Choose the most appropriate answer from the

options given below:

(A) Mercury (B) Brass

(C) Bronze (D) Stainless steel
(E)  Question not attempted
frfafad & & -4t frsrarg 21 &
frfafiaa faeredt & & @aifas 3ug® ST IH:
(A) W) (B) aw

(C) = (D) TG &
(E) I g

[ Contd...



44  Which of the following non metal is a conductor
of electricity?
Choose the most appropriate answer from the
options given below:
(A) Sulphur (B) Graphite
(C) Coal (D) Iodine
(E)  Question not attempted
Freaferfia & & et e frep 1 <o 27
frfafaa faeredt 4 & @aifaes Iag® ST IH:
(A) HEH (B) e
(C) T (D) STREN
(E) a9

45  To remove farsightedness defect of eye we use
spectacles fitted with-
Choose the most appropriate answer from the
options given below:
(A) Concavelens (B) Convex lens
(C) Bifocallens (D) Convexo-Concave
(E)  Question not attempted
o oh LG &IV I Sieh T o6 FoTq & Fore i ared
TI9H T AT L -
frfeRaa fospedt 4 & wafferes 3ug ST
(A) IEaAdES (B) SAAATSH
(C) fswEtei@s (D) FHad@l-hiTed &
(E) iy

46  In which game did Annu Rani win the gold medal
in the Asian Games 2023?
Choose the most appropriate answer from the
options given below:
(A) Wrestling (B) Javelin Throw
(C) Discus Throw (D) Shooting
(E)  Question not attempted
¥ 2023 % TRMTE WAl § 3= T A foFw @ §
Ut vgeh ST
frfafeaa faeredt o & @aifaes 39g® 3T IA:
(A) Fwr (B) T %k
(C) feewman ) REHIEEIED
(E) a9

DEF-Bl14] 9@
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‘Digilocker’ is a government cloud based
platform provided application for:
Choose the most appropriate answer from the

options given below:

(A) Storing cash in a digital form

(B) Storing important documents in a digital
form

(C) Storing precious metals in a digital form

(D) Storing election related data in a digital
form

(E)  Question not attempted

Fe Nt TR g0 Y0 T FA8e STaTia
W%z

frefaRad fosreat & & aaffere sug ST

(A) et I fefiea &9 & wudia & & forr

(B) WewaUl ST @l fefMea &9 # €
F & fodr

(C) St arqett =i fefored &9 o €Ietd &1
forg

(D) T Haelt et wf fefvea w0 7 wweda
F & fod

(E) raid 9

The upper limit of loan amount proposed in the
first phase of ‘Gopal Credit Card Scheme’ for
one year is:

Choose the most appropriate answer from the

options given below:

“TYT ShiS e FISHT o TAT =0T § JEdTied

0T TRT 6T S0 HHT Tk ¥ o fordl 2
e frpedt § & walfire Sugw s
(A) 50,000
(B) 75,000
(C) T1,00,000
(D) T2,50,000
(E)  Question not attempted / agﬁﬁ—cr Iq
[ Contd...
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Match List-I with List-II.
List-1

a. Phenotype L
b. Gene II.
II1.

List-11

Genetic constitution
External appearance
c. Genotype Not expressed in F1
generation

Iv.

d. Recessive Factor that controls a

character character
G=fi-1 o @rer F=h-11 1 et i)
Heit-1 HEit-11
a. TIRIUITET L HATgEfT HereT
b. A Il STer Setertor
c. SHYEY L. F1 9o e =&t
BT
T Sharet 1l ferdlt reqor
/7o bt Tt T @

Choose the most appropriate answer from the

d. TVt EROT IV,

options given below:

et fa T ferepeat & & watfare S ST -
(A) a-ILb-IV,c-Ld-II

(B) a-I,b-ILc-I,d-1IV

(©) a-IV,b-Ill,c-ILd-1I

D) a-Lb-ILc-M,d-IV

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Which of the following endocrine glands is
known as the master gland of the body?

Choose the most appropriate answer from the
options given below:

(A) Adrenal gland (B)
(C) Thyroid gland (D)
(E)  Question not attempted

R & & siF-wT 37d-amet 7 TR T “ATEex
frfaRad fospeat # & wafiere Iug ST
(A)  stfergerh (fier) Tif

(B) ey (et ufer

(C) 9TRigS ufer

(D) oTgHE U

(E) a9

Pituitary gland
Thymus gland

12

51

52

Which of the following conditions are correct for

donating the blood by a male or female?

a. The weight of a person must be above 45 kg.

b. The person should not suffer from any serious
disease.

c. Hemoglobin level in their blood must be
between 8 to 12.

d. The person has not donated blood since last
two years .

Choose the most appropriate answer from the

options given below:

(A) a,bandconly (B) b,canddonly
(C) canddonly (D) aandbonly
(E)  Question not attempted

fopell qew 7o B 6 N T W H [T
freferfiga o & s-o feurfoat ot &

a. 38 Ah o1 asi 45 kg T A4k g1 =Ry

b. SR foeft TiefiT T & ifea 72 & =few)

c. 3% T § EIAICAIfe o1 TR 8 & 12 % e 2T

=ty

d. 39 =3k = fuset 3t aut o whar =& R 2
et fow T forehed # @ waifaes 3ugw 3ot 94l
(A) FaAa, b3 c (B) Hadb, c 3R d
(C) FaAcIRd (D) Hada b
(E) raid 9

Identify the Rajasthani player who has not played
cricket in Indian Cricket team.

Choose the most appropriate answer from the
options given below:

(A) Gagan Kishanlal Khoda

(B) Hanumant Singh

(C) Parthasarathy Harishchandra Sharma
(D) Aanantjit Singh Naruka

(E)  Question not attempted

g TereT faerel e Wi ferehe 9 fopere
i T, 2
frfafad fasreat # @ waifas 3agw® S0 TH:
(A) TH fhemeTe @rer
(B) &Ha fiw
(C)  urefumeft gfteres It
(D) Fasia fog Tehr
(E) 3Igdia g4
[ Contd...
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Identify the Rajasthani player who represented
India in Paris Olympics 2024.

Choose the most appropriate answer from the
options given below:

(A) Maheshwari Chauhan

(B) Neeraj Chopra

(C) Aishwarya Pratap Singh Tomar

(D) Lalit Kumar Upadhyay

(E)  Question not attempted

I TeedH! Rearet foeq ufe iU ee §
WA T T Terea fora:

frfaRad foskeat @ & @afiere Iug ST
(A) uREd <Sen

(B) R ==

(©) v vam féig de

(D)  AlcTd FHHR JUTEART

(E) 3gaiid o

In which of the following games has Nikita
Chaudhary of Jhunjhunu (Rajasthan) won medals
at Macau, China in June, 2024?

Choose the most appropriate answer from the
options given below:

(A) Sambo (B)
(C) Badminton (D)
(E)  Question not attempted

L (TS i Frfept <itertt = feferfiaa wedt &
4 TohE TS | WehTSs, < W S, 2024 H 9 ST
ettt frhel § & wratfsres 39w S
(A) @R (B) IS

(C) doefiea (D) s

(E) 3rgaid o

Sh. Bhajan Lal Sharma, CM of Rajasthan
in thel6th

Chess
Gymnastics

represented which constituency
Assembly?

Choose the most appropriate answer from the
options given below:

(A) Shahpura (B)
(C) Rajsamand (D)
(E)  Question not attempted

TSTET o HearwaiT 2t 15T e 3Tt 163 forerrrer
¥ forer foremmrerr gt o1 wfafaferea sved 82
frfafad faeredt # & @aifaes I9g® ST IA:
(A) EQ B) fgamr

(C) TSEE=< (D) ETR

(E) Srfaiayy

Siwana
Sanganer

56

57

58

Arrange the following districts of Rajasthan in

descending order according to their literacy rate

(Census 2011):

a. Churu b. Kota

c. Alwar d. Sirohi

TSy o fefafaa St s aremar &t (20110
SRTUMT) o S2d ShT W STa e ohi:

a. ES b. T

c. IR d RO

Choose the most appropriate answer from the

options given below:

it faw T forsheat # @ waifere Sug S I
(A) d,b,c,a (B) a,b,c,d
(C) b,a,c,d (D) b,c,ad

(E)  Question not attempted / 3774 T Tq

“Vijaya Stambh”, located in Rajasthan was
constructed by?

Choose the most appropriate answer from the
options given below:

(A) Mahmood Khilji

(B) Rajaraja Chola

(C) Rana Kumbha

(D) Bappa Rawal

(E)  Question not attempted

T § feord “fost wqwr s fmfor forees g
EZCIRIRIEIV,

frfaiad fosredt # @ waifae 3ugw 3ut I1:
(A) weRfaest (B) TSRS
(C) TOmFHFT (D) ST A

(E) I g

In which year was the “Mewar Praja Mandal”
established in Udaipur?

Choose the most appropriate answer from the
options given below:

ITAGH “HATS TSI HSA Shl TATIHT e B5?

frfafad fasreat 7 @ watfas 3agw® SR T
(A) 1937 (B) 1938
(C) 1939 (D) 1940
(E)  Question not attempted / agﬁﬁ—cr Iq
[ Contd...
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Three bells ring at intervals of 9 minutes, 12
minutes and 15 minutes respectively. If they start
ringing together at the same time, after how much
time will they next ring together?

(A) 1hour 50 min (B)
(C) 2 hours 30 min (D)
(E)  Question not attempted

T =feat seweT: 9 e, 12 fime qur 15 fime &
AU T ISl | IS o Tk |1 T & 99 W
SIS 7% AT & AT ST SR foh T % 18 T
|y ST

(A) 1"a50fe  (B)
(C) 2%30fe (D)
(E) 3rgaild o

2 hours

3 hours

2 &
35

Three numbers are in the ratio 3 : 4 : 6 and their
HCF is 9. The LCM of the number is:

AT @A 3 : 4 1 6 % ST H & T4 I HCF 9
1 37 HEATS T LCM #:

(A) 216 (B) 540

(C) 108 (D) 324

(E)  Question not attempted / 33!'@'&?{ 99

Who is known as the father of nuclear science in
India?

Choose the most appropriate answer from the
options given below:

(A) J.C.Bose

(B) Rishi Charak

(C) Dr. Homi Jahangir Bhabha

(D) Dr. Har Govind Khurana (Khorana)

(E)  Question not attempted

RA  foh®l AT T (R |159) o S
& ®Y § ST ST 22

frfafaa faeredt o & @aifae 3ug® ST IA:
(A) .G g

(B) HYUIH

(C) <. Bt SR A

(D) <. BNf= g

(E) a9

" A"

14
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63

64

Mendel performed hybridization experiments on
plants.
Choose the most appropriate answer from the

options given below:

(A) Tomato (B) Rose

(C) Garden pea (D) Onion

(E)  Question not attempted

HET  TRTT wrEor 3 dTet o fom o
frfafad fasredt 7 @ watfaes 3agw® S0 T
(A) TR (B) T

(©) WA @HL) (D) W

(E) raid 9

Which of the following show heterozygous
alleles?
Choose the most appropriate answer from the

options given below:

A TT (B) tt

C) Tt (D) Both TT and tt
(E)  Question not attempted

ffafes & @ @W-ar fowmgest Ut
(FrAferaredt) T RIS 82

frfaiaa foredt # @ @aifare 3ugw 3ot I1:
A TT (B) tt

(C) Tt (D) TT 3R tt AT
(E) rgaid 9

Who among the following players of team
‘Hockey Rajasthan’ made the only goal in the
14" Hockey India Junior Men’s National
Championship 2024 against ‘Hockey Haryana’?
Choose the most appropriate answer from the

options given below:

(A)  Sunil Mann (B) Anurag Suthar
(C) AmitKhasa (D) Sahil Ruhal
(E)  Question not attempted

Bl Tere o feferfaa & @ forg faaret 3
14 9o TS S gkt <{fUeAiig-2024 5 Ereht
gRETr o Raeis T et foram

frefeTRad fospeat @ & aafieres Iag ST
(A) ghaos  (B) FEETEAR
(C)  ftra @ (D) Wifed T8t
(E) 3rgaid 9
[ Contd...



65  Who is the captain of the14" Hockey India Junior
Men’s National Championship 2024 for ‘Hockey
Rajasthan’ team?

Choose the most appropriate answer from the

options given below:

(A) Kamalkant

(B)  Gurjar Sachin Singh

(C) Himanshu Kumar Meena

(D) Meena Mohit

(E)  Question not attempted

14 3 89 TS SR BiohT <ITUaITd-2024 F “Sfeht

TSR I % A S 22

frfaRad fospeat @ & @atiere Iug ST

(A) FHAR (B) TSR | ¥

(C) TmigFARHOT (D) =T Hifed

(E) a9

66  Match List-I with List-II.

List-I List-11

a. Non-metal used in I.  Graphite
acid, gun-powder
and medicines

b. Non-metal used II. Mercury
in electrodes

c. Metal used in 1. Sulphur
electronic instruments
and wires

d. Metal used in IV. Copper
thermometer

GAT-1 % |1 F=iT-11 T e shifr)

Heit-1 Heit-11

a. ITF, THUTSST 3T I U%EE
TSR & IwT i S
et S7eTq

b. IFISH ITANTH SN [ HH (IRT)
EIRIERI]

c. JAAFRIH SUHON T [IL. T
TR H ST Y T et
rq

d. emideT SET AT 1V, I (die)
arefr a1g

Choose the most appropriate answer from the

options given below:

et foq T forehedt 7 @ waifae 3uge S I:

(A) a-Lb-TLc-1V,d-1I

B) a-ILb-1V,c-1,d-1II

(C) a-NLb-Lec-IV,d-1II

(D) a-NLb-Lc-ILd-IV

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

DEF-Bl14] 9@
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Which of the following non-metal reacts with
concentrated nitric acid (HNO;)?

Choose the most appropriate answer from the
options given below:

(A) Phosphorus (B) Carbon

(C)  Sulphur (D) Iodine

(E)  Question not attempted

frefafad # & HHA-H7 S1a1q AW TRiH
(HNO,) % @rer STfvrforam et 22

frefetRad fospedt & & wafiere Iag AT
(A) IERRE (B) e

(C) |TH (D) 3AREH

(E) raid o

A goldsmith has gold of 14 carat purity and 18
carat purity. In what ratio should he mix the two
to make an ornament of 15 carat purity?

Teh G o6 UTH 14 T Il a7 18 e el b
HT 31 15 3 AT T ST SH o feag a8 32
formr a1ama # firem

(A) 5:2 (B) 4:3

C©) 5:4 D) 3:1

(E)  Question not attempted / 31@?!‘73{?[ 949

A sum of ¥ 23,450 is divided among A, B, C and
D such that they received the money in the ratio
of A:B=2:3,B:C=5:6andC:D=3:4.
How much money did D receive?

% 23,450 I URT A, B, C T9T D # 39 TR A1
TS o6 3¢ WTW SRl § SU@ A B =21 3,
B:C=5:6daC:D =347 D& e e
foem?

(A) 8,500 (B) 8,400

(C) 8,200 (D) T8,150

(E)  Question not attempted / 313?!‘&?[ BE

A sum of ¥ 1,800 is divided among A, B, C so
that A gets % of C’s share and B gets % of A’s
share. The share of C is:

% 1,800 T TMT T A, B TUT C ¥ 36 TR a1l T8
6 A &I C S wmT o % TAT B &l A o 9T T %
WTH AT 21 C T 9T &:

(A) 1,000 B) 900

(C) 1,200 (D) %600

(E)  Question not attempted / 3133?!'&?[ 99

[ Contd...
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The process in which the superior males of one
breed are mated with the superior females of
another breed is called:

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

9 WlshaT fSre e T o 28 T gud T6d A
AT HIET § GHITH AT ST &, ShacdTdl &
frfafiaa faeredt o & @aifas 3ug® ST IH:
(A) SRS

(B)  WflT HehuT (stek ShIfET)

(C) HhL IoI (i sfifem)

(D) JAqISH

(E) Srfaiaws

Out breeding
Back crossing
Cross breeding

Inbreeding

Nikhil sold an item for T 1,425 and suffered a loss
of 5%. For how much should he have sold it to
earn 10% profit?

ffaet 3 e a%q 5% = & "1™ % 1,425 7 &=
10% @ 3AiSq i o oI 38 o 9% fohe o
st =TT oft?

(A) 1,638.75 B) 1,642

(©) 21,650 (D) 21,662

(E)  Question not attempted / aa?lﬁﬁ Iq

A shopkeeper sold an item for T 960 after allowing
20% discount on the marked price. What will be
the selling price of the item if he gives only 12%
discount?

Teh ehTER oI o 3ifohd qeol T 20% hl T ThT
3 % 960 H o= TS T8 haleT 12% ol 9 < A1 36
ESENEER R RIS

(A) T968 (B) T998

(C) T1042 (D) T 1056

(E)  Question not attempted / ﬂ@ﬁﬁﬁ il

16
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75

76

A shopkeeper allows successive discounts of
15% and 10% on every item. He allowed an
additional discount to his friend. His friend paid
T 2,907 for an item marked for T 4,000. Find the
percentage of additional discount given to the
friend.

T GHMENR Teish a&] T 15% TAT 10% 1 hiHeh
T2 31 2 I T fE F o AR 92 A
amw% 4000@6@&?%@3}#&3%
Z 2,907 THY 3a% firm =1 4 8 Wi @2
wftrera s o)

A 7% B) 6%
©) 5% D) 4%
(E)  Question not attempted / 31':!3?!'?(‘([ BE)

The Bhakra Nangal Project is a joint venture of
which of the following group of states?

Choose the most appropriate answer from the
options given below:

(A) Haryana, Punjab, Rajasthan

(B) Haryana, Himachal Pradesh, Punjab

(C) Rajasthan, Haryana, Uttar Pradesh

(D) Punjab, Rajasthan, Uttar Pradesh

(E)  Question not attempted

@t AiTe ufesr fefafaa & foe asat &
HYE T HH I 22

forffiaa fehedt § & waifies IqGH IR T
(A) BT, UST, TS

(B) i, feureret yewr, USTTer

(C) TSI, BT, SR weeT

(D)  USITS, TSR, 371 9e9T

(E) 3Iqdia g

Which one of the following water dam projects is
not associated with Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  Sidhmukh dam project
(B) Jakham dam project
(C) Matatila dam project
(D) Panchna dam project
(E)  Question not attempted

Frfoafaa o @ form weh Stot siy-gfESTT 51 d@eiy
TSTET & e 22
frfaiaa fosredt # @ waifae 3ugw 3t I1:
(A) ToaE Sty afEsE
(B) @ sy g ST
(C)  TTATT Siver GRS
(D) U= Sfe ST
(E) SIgdia gy
[ Contd...
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The HCF of 13.5, 0.9 and 12 is:

13.5, 0.9 T 12 =T HCF (HexH 9T9adeh) B:
(A) 03 (B) 1.08

<© 3 (D) 54

(E)  Question not attempted / aﬂﬁﬁﬁ 99

The LCM of two numbers is 14 times their HCF
and the sum of LCM and HCF is 600. If one of
the number is 280, then the other number is:

2l AT S LCM (T |HTdadeh) 39 HCF
(METH HHIYEish) FT 14 TAT & 741 LCM (FEaw
THTIEA) 3T HCF (F8a9 9HTIadaR) 3T I1T 600
21 S 377 & T HEAT 280 B, A1 god e &

(A) 320 (B) 140

(© 120 (D) 80

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

If the average of 8 numbers is 12 and the average
of five of these numbers is 15, then what is the
average of the remaining numbers?

Tq 8 HEATSI T 37T 12 & T S & e deansit
T ST 15 8, AT Y STl 0l 316 31 82

(A) 6 B) 6.5

<o 7 D) 75

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

‘Teej’ festival of Rajasthan is celebrated in the
month of -

Choose the most appropriate answer from the
options given below:

(A)
©) (D)
(E)  Question not attempted

TSTEH T e e forer re & T ST 82
frfeRad fospedt # & @afiere Iug ST
(A) o (B) =7

(C) HIideh (D) WIEH

(E) Srfaiayy

Shravan Chaitra

Kartik

(B)
Phalgun

17
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82

83

Where is the Kapil Muni fair held on Kartik
Poornima?

Choose the most appropriate answer from the
options given below:

(A) Chaksu in Jaipur

(B) Kolayat in Bikaner

(C) Diggipuri in Tonk

(D) Rewasa in Sikar

(E)  Question not attempted

T qfote B chfrer wf et st e 27
frefetRad fospedt o & aafferes Iag ST T:
(A) SEARHAAEY  (B) SHHFR A HAEd

(C) Fwuferigh (D) iR & @
(E) rgaid o

The article of Jewellery called “Borla” is worn by

the Rajasthani women in

Choose the most appropriate answer from the

options given below:

(A) Ankle (B) Wrist

(C) Head (D) Neck

(E)  Question not attempted

“TRAT” AT HT ST T Afeerstt g/
T TEAT SITT 2

frfafad fasreat 7 @ watfae 3agw® SR T

(A) & (B) el

© f (D)

(E) I g

Which of the following districts of Rajasthan had
the highest sex ratio in rural area according to the
census of 20117

Choose the most appropriate answer from the
options given below:

(A) Ganganagar (B) Pali
(C)  Jaipur (D) Jhalawar
(E)  Question not attempted
2011 3T SFRTUMT o STTER TSTe o fmfafad §
& forw Tt a1 TITetor &t o fofTTTegaTa watters o
frefeTRad fospedt @ & aafieres Iag AT
(A) TR (B) Tt
(©) SEAR (D) HrATETg
(E) 3Igdia gy

[ Contd...
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In which of the following areas of Rajasthan,
Salar forest is not found?

Choose the most appropriate answer from the
options given below:

(A) Udaipur (B) Jaisalmer
(C) Pali (D)
(E)  Question not attempted
freferfad & Treteer o fohwr & § JTeTR 9 e a1e
ST &2

frfafad faeredt o & @aifaes 3ag® ST I:
(A) IR (B) SHEH

(C) et (D) 3SR

(E) 3Tl o=

Ajmer

Which of the following regions of Rajasthan
shares its boundary with Gujarat state?

Choose the most appropriate answer from the
options given below:
(A) Pali (B) Udaipur

(C) Nagaur (D) Chittorgarh

(E)  Question not attempted

frefaRad & TSET &1 HH-8T &7 ToRId T &
T ST HTHT | LT &2

frfeRaa fospeat # & wafiere Iug ST
(A) et (B) ST

(C) R (D) feriteTg

(E) Jaid 9%

Shekhawati region is part of which of the
following physiographic division of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

YEE & TS & fefafa ¥ @ fa
I-3TThIeh forTSI BT W 22

frfeRaa fospedt # & wafiere Iug ST
(A)  ufst aeere et e

(B)  3Tel-3Th &l

(C) 3ITact &

(D) et Bart &

(E) Srgaiaug

Western desert plains region
Semi-arid region

Aravalli region

Eastern plains region
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88

89

In which of the following areas of Rajasthan,
black soil is found?
Choose the most appropriate answer from the

options given below:

(A) Jhalawar (B) Jaisalmer
(C) Bikaner (D) Churu
(E)  Question not attempted

TSTET o Frferfiaa o & forer & F ahreft gaT urg
STt 87

= fow e forepedt & & wa@ SUgE S
(A)  FEAETES (B) SHEHT
(C) iR (D) T&

(E) raid o

In which of the following areas of Rajasthan the
desert soil is not found?
Choose the most appropriate answer from the

options given below:

(A) Churu (B) Nagaur
(C)  Jodhpur (D) Kota
(E)  Question not attempted

TSTET & ffoiad # @ forer & 7 weeereti et
EERIRIS G R

frfafad foereat # @ watfaes 3agw® SR T
(A) TE (B) AW

(C) R (D) T

(E) raid o

Name the Hindu Saint, also worshipped by the
muslims as “Ramsa Peer”.
Choose the most appropriate answer from the

options given below:

(A) Mehaji Manglia(B) Devanarayanji
(C) Mallinathji (D) Ramdevji
(E)  Question not attempted

34 Tereg Tt o1 A1 fordt gike ot e i s & d
ERCES

frfafad fasreat 7 @ watfae 3ag® S0 TH:
(A) TUEtEIfeT  (B)  IERREOST

(C) dwfeemmeost (D) THIEST

(E) 3Idia g

[ Contd...



90  What is the colour of the ‘Pomcha’ presented to
the mother of a new born daughter?
Choose the most appropriate answer from the
options given below:
(A) Pink (B) Yellow
(C) Lavender (D) Orange
(E)  Question not attempted
eI QAT <6t A 26T Tohe T T QI foT ST 22
frefeiaa fospedt 4 & aafferes 3ug ST
(A) Tt B) e
(C) e (deey) (D) ATl
(E) rgaid 94
91 Nutrionally egg is a rich source of:
a. Proteins
b. Iron and phosphorus
c. Unsaturated fatty acids
d. Carbohydrates
e. Vitamin E
Choose the most appropriate answer from the
options given below:
(A) aanddonly (B) bandeonly
(C) a,bandconly (D) c,dandeonly
(E)  Question not attempted
qIT AT Y T STUST Tk T E &
a. T HT
b.  TIE 3R HEHRE H
c.  ITHqH JET ITRAT BT
d.  wreTEEse
e. faerfem B =t
et foq T forkedtt 7 @ wariferes 3uge St |
(A) FaAa3Rd (B) Hadb3Ne
(C) @acla, b3 c (D) ohacic,d e
(E) SFfaiaws
DEF-Bl14] 9@
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93

Which of the following is not a protein present in
milk?
Choose the most appropriate answer from the

options given below:

(A) Casein

(B) Lactalbumin

(C) Lactaglobulin

(D) Lactose

(E)  Question not attempted

freAferiiera o € e 19-91 g4 5 IR ST Tt U T
& 22

freafafiaa foeredt & & @aifas sug® s TH:
(A)  FHEE

(B) T

(C)  TElIgfer

(D) dF

(E) I g

The common test to check adulteration of ghee
with animal fat is:
Choose the most appropriate answer from the

options given below:

(A) Carbolic acid test

(B) Baudouin test

(C) Halphens test

(D) Nitric acid test

(E)  Question not attempted

off o Sfq ot frerae S w6 T uew
HTHT=T T 2

frfaiaa fosredt # @ @aifae 3ugw ut 91
(A) HIETToTeh ST TRIEToT
(B)  STgs wreor
(C) BT Tdteror
(D) ik 37 Hiveom
(E) 3Idia g
[ Contd...
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Grooming of calves is done to:

Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)
(D)
(E)
ST hT T hT STt 2

frfafiaa faereat o & @aifas 3ug® ST IH:
(A) I (ITST) ITH A & foTT

(B) =Ted © = % feTy

(C) Tk UTGH=OT <l 7 i o foTT

(D) 32 W8 W@H & fow

(E) i yy

Get fibre

Avoid licking

Decrease blood circulation
Keep them clean

Question not attempted

Which of the following is not the breed of buffalo:
Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)
(D)
(E)
forffaa & & et S i 5t 78 &2
frfafiaa faercdt o & @aifae 3ug® ST IA:
(A) HeEm

(B) dftew

©)
(D)
(E)

Mehsana
Beetal
Toda
Murrah

Question not attempted

CIS

w
CENICRE]
@
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97

Which of the following Pashu Melas are
conducted in Jhalrapatan of Jhalawar in
Rajasthan?

a. Shri Baldeva Pashu Mela

b. Gomti Sagar Pashu Mela

c. Shri Ramdev Pashu Mela

d. Shri Chandrabhaga Pashu Mela

e. Shri Veer Tejaji Pashu Mela

Choose the most appropriate answer from the

options given below:

(A) abandeonly (B) ¢, dandeonly

(C) banddonly (D) aandconly

(E)  Question not attempted

TSI H STATETS o HICRTIRA | FHefaiad § §
F-B-E Ak TR R o 3

a. ot Wﬂﬁw

b. T WWR OR] HeAT

d.  off ST Ry He

€. a%aﬁrﬁsrm%wﬁw

=t few e forhedt & watferas 3uge 3ot |
(A) FaTa,b3We (B) Hadc,d3ie
(C) HAAb3INd (D) HadaiRc
(E) I g

The percentage of total solids in cow milk is

approximately

m%wﬁwﬁaﬁvw;ﬁmw
BTl

Choose the most appropriate answer from the

options given below:

frfafad fasreat # @ watfae 3agw® SR T
(A) 8.6% B) 5.8%
©) 132% (D) 18.5%
(E)  Question not attempted / agﬁﬁ—cr Iq
[ Contd...



98  ‘Operation Flood’ is related to:
Choose the most appropriate answer from the
options given below:
(A) milk (B) fish
(C) water (D) oil
(E)  Question not attempted
STTIEM TS’ Hefod 2:
frfeiad fospedt 4 & wafieres 3ug ST
(A) TH (B) HE
(C) ¥ (D) dA"
(E) a9

99  The integration of the Rajputana into present day
Rajasthan was completed in how many stages?
Choose the most appropriate answer from the
options given below:
TSI T T FAH USTEAT o &9 H fohe
=T H | 3T AT?
frfafiaa faeredt o & @aifas 3ug® ST IH:
(A) 2 B) 3
© 4 D) 7
(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

100 Which famous personality of Rajasthan is also
known as “Banasur Ka Shaheed”?
Choose the most appropriate answer from the
options given below:
(A) Major Shaitan Singh
(B) Lt. Gen. Nathu Singh
(C) Lt. Gen. Sagat Singh
(D) Major Somnath Sharma
(E)  Question not attempted
TSTET o T g, A ehed bl “STOTTEL T YRS
+ff T ST &2
frfeRad fospedt # & @afiere Iug ST
(A) WRIAEfEE  (B) . .Y RE
(C) oS wa fég (D) O |-y It
(E) Srfaiayy

DEF-Bl14] 9@
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Which party has won Banswara Parliamentary
constituency (Rajasthan) in the 2024 Lok Sabha
Election?

Choose the most appropriate answer from the

options given below:

(A) Bhartiya Janta Party

(B) Bharat Adivasi Party

(C) Indian National Congress

(D) Bahujan Samaj Party

(E)  Question not attempted

2024 % AHETT IAE H fRE O A ST
(TSI HEETT & ¥ St 978 12

e frpedt § & warlfore Sugw s o
(A) VAT ST q1et

(B) WA Tfeat uref

(C) e e Hw

(D)  SgSI TS qif

(E) rgaid o

Who is the minister of technical education in
Rajasthan (in September 2024)?
Choose the most appropriate answer from the

options given below:

(A) Shri Kirodi Lal

(B)  Shri Madan Dilawar
(C) Dr. Prem Chand Bairwa
(D) Smt. Diya Kumari

(E)  Question not attempted

TSI o dehriehl 1378 Wit (Raaweie 2024 ) &9
B
frfaiaa fosredt # @ @aifae 3ugw ut 91:

(A) it foRtt @t
(B) ff #eT faamax
(C) 1.y I=< oTar
(D) et o paTdy
(E) 3Idia g
[ Contd...
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According to report by Forbes India published in

September 2024, In Indian states Rajasthan ranked
in projected GSDP (FY 2024-25).

Choose the most appropriate answer from the

options given below:

(A) 3" (Third) (B) 5™ (Fifth)
(C) 7™ (Seventh) (D) 11" (Eleventh)
(E)  Question not attempted

wisd 3fear it faamr, 2024 ¥ yemifyra fad &
T, A o6 TS H, TSTEAT T FAFATHG (ST 0
gt o) forfir ad 2024-25 H T 2:

frfafaa foskeat @ & @aifere 3ug ST
(A) e (B) ur=df

(C) dradt (D) WREal
(E) raid 9

Which of the following are the examples of

communicable diseases?

a Chicken pox
b. Cancer

c. Tuberculosis
d. Diabetes

e. Cholera

Choose the most appropriate answer from the

options given below:

(A) a,dandeonly (B) a,bandconly
(C) a,candeonly (D) banddonly
(E)  Question not attempted
frfefad & 9 F-8 Hshraeh T % ITTET &2
a. Toea e
b.
c.  TURH (FIFHAIGH)
d.  WYHE (SAfRI)
e. BT (hler)
it fow e foehedt 7 @ waffae 3ug™ SO |
(A) Hada,d3Me (B) Hada, b3 c
(C) Hacda,c3e (D) HaaTb IR d
(E) Srfaiayy

DEF-Bl14] 9@
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Select the correct statements from the following :
a. Cancer is caused by uncontrolled cell division.
b. Hepatitis-A is caused by bacteria.

c. Haemophilia is a genetic disorder.

d. Leprosy is a viral disease.

Choose the most appropriate answer from the

options given below:

(A) aandconly (B) bandconly
(C) aanddonly (D) a,bandconly
(E)  Question not attempted
Freeferfas & e e 2

a. O AP ifRTeT forTs o sHroT B 2
b. federzfeq-A Sfamvreit  swror gt 21

c. EHIHICTT T AT foepm 2|

d. B T (AT T foremoy =1 T 2

it fow e forhedt § & walferes 3ug o8 I
(A) Faet a 3N ¢ (B) Fae b AR ¢
(C) FaAa3Id (D) Hada, b3
(E) raid o

is reddish brown, bean shaped
structure present in lower abdominal cavity of
human beings.
Choose the most appropriate answer from the

options given below:

(A) Kidney
(B) Liver
(C) Gall bladder
(D) Thyroid gland
(E)  Question not attempted
T ATA-9 T hT A (3f1) o AT T

HTET 2 ST AT ol IS TTRT o6 el WY 7 T8
Gk

frefafad faeredl 3 & @affare sugw S0 T
(A) T (TE)
(B) ¥ (i)
(C) o (7Tt sty
(D) UrRTgS Ty
(E) g gy
[ Contd...
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‘Project Tiger’ was launched in:

Choose the most appropriate answer from the
options given below:

(A) 1962 (B) 1968

(©) 1970 (D) 1973

(E)  Question not attempted

ST IRESHAT (SSieRe 2TETR) YT <Al 778 of:
frfeRad fospedt @ & wafiere Iug ST
(A) 19627 (B) 19687%

(C) 1970% (D) 1973%

(E) Srgaiaug

Which of the following is not a forest and wildlife
resource?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

fAfafad o & F-81 37 3R g dare T8
2

freferfiaa foreredt # & wraffére 3ugw Sa I
(A) IRfdaT

(B)  3fafieRd o

(C) <RI (¥THeR)

(D) erdaw

(E) Srgaiaug

Reserved forests
Unclassed forests
Indigenous forests
Protected forests

Animals whose numbers are reducing to a level
that they might face extinction are known as:
Choose the most appropriate answer from the
options given below:

(A)
(B)
©

Endangered species

Extinct species

Susceptible species

(D) Endemic species

(E)  Question not attempted

R i ool HeT 39 T ok o el S @ 2 foh
F T T TTHAT oL Tehdl &; HEATd 2
frfafaa faeredt o & @aifae 3ug® ST IA:
(A) TR STt

(B)  forcgw strferat

(C) HagTiier Stifaa

(D) Tt STfaat

(E) Srgaiaug
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112

Approximate age of sexual maturity of buffalo
bull is .
Choose the most appropriate answer from the
options given below:

(A) 22 months (B) 18 months

(C) 15 months (D) 20 months

(E)  Question not attempted

ey # AN uftudedr T SFHING SR
el 2|

frfafad fosredt 7 @ watfae 3agw® S0 TH:

(A) 224WR (B) 184

(C) 15HmE (D) 204E

(E) raid

Foot and mouth disease in cattle is caused due to
infection by

Choose the most appropriate answer from the
options given below:

(A) Bacteria (B) Virus

(C) Protozoa (D) Fungi

(E)  Question not attempted

TRT3T o GUTeRT-HEhT T T HRT BELL
2

frfaiaa foredt # @ @aifare 3ugw 3ot I1:
(A)  Sfamy (i)

(B) oo (ameres)

(C) IerSrsT

(D) hd:

(E) ¥ g

The state animals of Rajasthan are:
Choose the most appropriate answer from the
options given below:

(A) Tiger and Camel

(B) Chinkara and Camel

(C) Camel and Black Panther
(D) Tiger and Cow

(E)  Question not attempted
TSTEAT o T4 WY &:

frfaiad fosredt # @ @aifae 3ugw 3ot I1:
(A) farsie

(B) Wt fewor (fiehmr) 3t 3
(C)  Fe AR hrar =T

(D) <ffar ST

(E) SIgdia gy

[ Contd...



113

114

DEF - B14 ]

According to ‘Rising Rajasthan 2024°, Rajasthans
rank in installed wind power capacity is:

Choose the most appropriate answer from the
options given below:

(A)
B)
©)
(D)
(E)
TERAT TSEAM 2024, F FIER GG Sl bl
TTIUT AT oh ShH T TSTEITH T T -
et frsbedt & & wraffores Sugw Sw o
(A)  fdr

(B) et

©) wum

(D) =gd

(E) i yy

2nd
3 rd

1St

4th

Question not attempted

Udder secretion immediately after calving is
known as and is rich in

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)
TDET oh S oh dcahTel SIS T oh AT § bt areT
T FEAMIRARIE . g
IR

Freaferfia frshedt § & wratfores 379w U
(A) HIcAEd, Ig A

(B) WM, IgE

(C) fafrgge, igM

(D) HHWIR, Ig G

(E) Srfaiays

Colostrum, Ig A
First milk, Ig E
Special milk, Ig M
Calf starter, Ig G

Question not attempted
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Which of the following is not the pastoral
community of the Himalayas?
Choose the most appropriate answer from the

options given below:

(A) Bhootiya

(B) Kinnauri

(C) Sherpa

(D) Dhangar

(E)  Question not attempted

frefcIRad # & HI9-91 feHTe™ i aERT §9eE
T

frfafad fasreat # @ waifas 3agw® S0 TH:
(A)  ufear

B) fr=

(C) =T

(D) &I’

(E) rgaid 9

Vast natural pastures on the high mountains, in
Garhwal region above 12,000 feet are called:
Choose the most appropriate answer from the

options given below:

(A) Bugyal

(B) Bhabar

(C) Terai grassland

(D) Evergreen grassland
(E)  Question not attempted

TGATS & H, 12,000 FE & 3T hl Felg W oo
S RISl W foreTet YTk ST sheetTd &:
frefafaa fosredt 3 & @aifas sug® s TH:
A) dEra

B)
©
D)
(E)

qTeR
TS % T % e
TETEER 5T o HET
CRNICRE]
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Which of the following districts of Rajasthan had
the highest population growth rate during the
decade of 2001-2011?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

2001-2011 % 3 § FHfARad § & TSEIH &
orer e o ST 918 7% AR off?
frfafiaa faeredt o & @aifas 3ug® ST IA:
(A) SRR

(B) TeH

(C) =T

D) SR

(E) 3rgaid 9

Bikaner
Barmer
Kota

Jaipur

Which of the following districts of Rajasthan had
the highest percentage of urban population in
their total population in the census of 2011?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

2011 3T SHATOHT H T & fefafaad & € fora
TSt ot STl e 1 TiRIa 36k ol ST
ST GTereh o2

frfeRaa fospeat # & wafiere Iug ST
(A) AL

(B) @I

(C) R

(D) T

(E) 3rgaid 9

4 J

Jaipur
Kota
Bikaner

Udaipur
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To which family of musical instruments does the
‘Shahnai’ belong?
Choose the most appropriate answer from the

options given below:

(A) Dhol (B) Beat

(C) Barrel (D)  Sushir

(E)  Question not attempted

TRHTS aTerEiE o ford TRET & Heifea 22
frfafad foereat 7 @ watfas 3agw® S0 T
A) @ (B) die

(€) D) TR

(E) raid o

Name the folk deity of Rajasthan known as the
God of camels-
Choose the most appropriate answer from the

options given below:

(A) Gogaji (B) Tejaji
(C) Pabuji (D) Mallinathji
(E)  Question not attempted

TSIEAT o Aleh Sadl o1 A8 S8 321 T 2adT ohal
ST &

frfafad fasreat 7 @ watfae 3agw® S0 TH:
(A) TSI (B) SISt
(OERER (D)  HfceHmst

(E) raid 9

Which genre of Rajasthani literature is just like
telling and listening to a story?
Choose the most appropriate answer from the

options given below:

(A) Jhamal (B) Vaat
(C) Parchi (D) Vigat
(E)  Question not attempted

TSTEATT Tifee o forer forem & et et ST At
STt 82

frefetRad fospeat @ & wafieres Iag SaT:
(A)  FHTA (B) d@
(C) =t (D) foma
(E) I g
[ Contd...



122 Which dialect of the Rajasthan is spoken in the
region of Kota, Bundi, Jhalawar and Baran
region?

Choose the most appropriate answer from the
options given below:

(A) Mewati

(B) Dhudhari

(C) Hadoti

(D) Malawi

(E)  Question not attempted

TSI o 21T, SfeT, FIATaTg ST AT & H -8t
et et ST 82

Freaferfiae frhedt § & wratfores 379w S
(A) et

(B) @l

(C) et

(D) waET

(E)  3Taiied o=

123 Chulia a water fall is located in which of the
following physiographic regions of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Western desert plain region
(B) Eastern plain region
(C) South-eastern plateau region
(D) Aravali region
(E)  Question not attempted
Fferar STt YOTq TS o fefaiad § § e
+fiforeh & o fera 22
Freferfan forped § & warifire SUw S
(A)  ufsrd weeoreli fert &
(B) il fewT &=
(C)  aferorgefl warl &=
(D) I &
(E) Srfaiays
DEF-Bl14] 9@
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Which of the following types of forests are not
found in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Tropical thorn forest

(B) Tropical dry deciduous forest
(C)  Sub-tropical montane forest
(D) Tidal forest

(E)  Question not attempted

Freafeiaa & fhe TehR o o Tereer & Tt url ST
L.

frfaRaa fosredt # @ waifae 3ugw € 91
(A) SWHfEHHT HicqR I

(B)  IrehiesefRy 7ok wofdTe o

(C)  SUTSThfsielr gaiefr o

(D) SAREFaA

(E) rgaid 9

The first phase of “Gopal Credit Card Scheme”
proposed from 25™ September 2024 to 8™
October 2024 is to target reaching how many
Gopalak families?

Choose the most appropriate answer from the

options given below:

(A) 3lac (B) Slac
(C) 9lac (D) 11lac
(E)  Question not attempted

TIITS 3hfSe TS AT 3T T =0T S 25 Todear
2024 ¥ 8 3TFZIR 2024 T TEATIA 2, T AT fobey
TTeTe TRET e Tg e o 82

frefafaa foeredt 3 & aaffas sug® s TH:
(A) (B)
©) (D)
(E)

RRSILC S
PANILC

TN T

11 deg

[ Contd...



126 In Rajasthan under the “Mukhyamantri
Ayushman Durghatna Bima Yojana”, the amount
paid by the government, in case of death of more
than one family member in an accident is:
Choose the most appropriate answer from the
options given below:

(A) T5Lac

(B) <% 10Lac

(C) T25Lac

(D) T20Lac

(E)  Question not attempted
TSR H “HErwt SR geeT a1 AT, 6
siete Frelt T 35 U & aHferh e % gl
g O I ST FoheT 27

frfafaa faeredt # & @aifaes sag® ST
(A) 57

B) X10<mE

(C) Ra257™@

(D) 207

(E) 3rgaid o

127 According to Rajasthan budget 2024-25 (8t
February 2024) which of the following amount
bond is proposed to be given to girls through
‘Lado Protsahan Yojna?’

Choose the most appropriate answer from the

options given below:

TSTEAT S 2024-25 (8 BRI 2024) o ITHR

“TATET WeaTed ASHT H arferrret At e 7 &

foRd T 3T STUS ST ST 82

frfafiaa faereat o & gaifas 3ug® ST IH:

(A) 50,000

(B) ¥1,00,000

(©) T1,50,000

(D) T2,00,000

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
DEF-Bl14] 9@
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128

129

In Pre-Matric scholarship for OBCs the
expenditure is shared between Center and state in
the ratio of:

Choose the most appropriate answer from the

options given below:

(A) 70:30

(B) 50:50

(C) 100% centre sponsored scheme

(D) 100% state sponsored scheme

(E)  Question not attempted

= fuser ot & ford Afgsh 1@ s & = &
AT 5 T T TR o o1 2

Fretferfia e & & wrrtfires 377w S
(A) 70:30

(B) 50:50

(C)  100% 3 & HETT ITH

(D)  100% T<T & TETAT I

(E) rgaid o

The average age of boys in a group of students is
twice the number of girls in the group and the
average age of the whole group of 50 students is
19.2 years. If the ratio of number of boys and
girls in the group is 4:1, then what is the average
age of girls (in years)?

50 feranfeiait o weh THE H <ISehi i STEd 1Y 4
T TS foRaT ot HET T AT & T X TR T sTea
HY 19.2 9 2 AR TR | TS SR STl 1
AT H ST 4:1 8, T AS(HAT hl 3THad AT (A
) T 22

(A) 16 B) 18
< 15 D) 17
(E)  Question not attempted / agﬁﬁ—cr Iq
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If the average of the numbers K, (K +7),7,9, 12,
15 and (2K + 1) is 9, then what is the value of
(K2 +1)?

FigE@MT K, (K +7), 7,9, 12, 15791 2K + 1) T
| 9 8, a¥ (K2 + 1) 1 A 7 22

(A) 5

B) 10

©)
D)
(E)

17
26
Question not attempted / aao:lﬂiia 99

An item was sold at a profit of 15%. If its cost had
been 5% less and it had been sold for ¥ 258 less,
the profit would have been 12%. Find the cost
price of the item.

T T T 15% AT O ST AT 1S SEeHT o6 qed
5% S BIAT AT AE < 258 FHH TSIt 715 a1t al
12% BT BTl 363 7T J1

(A)
(B)
©
(D)
(E)

¥3,200
33,120
¥ 3,000
¥2,940
Question not attempted / 31'@'&?{ Iq

A shopkeeper sells an item for ¥ 900 and suffers
a loss of 10%. To earn 12% profit, for how much
should he sell the item?

Teh GHMER FoReT aeq bl T 900 H si=rdl & A 34
10% T T BT 81 12% ST A 0 o 1e1g 38
e o P 2 S TR
(A) B)
©) (D)
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
4 J

% 1,098 31,120

31,112 < 1,100

28

133

134

135

136

Two numbers are respectively 30% and 40% of
the third number. What percentage is the first
number of the second number?

a1 ATt el @6 sl SHEE: 30% 99T 40% 2

el ST gudl W o fepd wfer 27
(A)  40% (B) 50%
©)  70% D) 75%

(E)  Question not attempted / 3T e

When a number is increased by 4717 % of itself,
it becomes 590. The number is:

ST hIS HEAT T W 47% % TS ST Al 98 590 &
ST 81 I8 HEAT 2

(A) 350 (B) 400
(C) 430 (D) 470
(E)  Question not attempted / 3774 )

If (150% of k) + 3 = 540, then the value of k is:
Il (k FT 150%) + 3 = 540, T k o7 0 &:

(A) 360 (B) 540
(©) 920 (D) 1080
(E)  Question not attempted / 3774 e

Which one of the following wild life sanctuaries
is not located in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Ramgarh Vishdhari

(B)
©)
D)
(E)  Question not attempted

FAfafad & SH-A1 a=-Sfa STHIRe TSed™ §
T 22

frfaiaa foredt # @ @aifae 3ugw 3 91:
(A)  TwTE ferser

(B) HelleTg

(€) e

(D) THHENX

(E) 3Igdia g

Bhensroadgarh
Bhimgarh

Ram Sagar
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137 Which of the following statements is not correct
about the climate of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) The average rainfall is not high in
Rajasthan because it is located in the
interior part.

(B) The extension of Aravalli range is
perpendicular to monsoon winds.

(C) In winter little amount of rainfall is
received through mavath.

(D) The western desert receives minimum
rainfall with annual average of 25 cm.

(E)  Question not attempted

freAfTiiaa H shIF-8T e TSTET hl SIetary o o

LR CE R

frfafad faeredt # & @aifaes 3ag® ST IA:

(A) TSEAM | 3fred aut s T & FiTR T
aTfafieh Wi fera 21

(B) 3acl #H@d &1 foredR AT v %
ECKA

(C)  fid = H ATEE & o<t it uTH 2 St )

(D) ufsf e der o i yTH shtar & fSreehr
Ttk e 25 Gt 2

(E) rgaid 9

138 Which of the following statements is not correct
about laterite soil in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) This soil is found in Dungarpur.

(B) It looks red due to the presence of iron.

(C) It contains enough quantity of phosphorus.

(D) It is formed by the crystalline and
metamorphic rocks.

(E)  Question not attempted

fAffad 5 SH-HT e TS Sl Welse JaT o

R T w22

frfeRad fospeat # & wafiere Iug ST

(A) I8 HaT SR H Tt SiTeft 2

(B) e ST 1 TR ¥ PR TE AT T
T 2

(C) SEH GITH | H BIEHITE ITET ST 2]

(D) IE HETAI Td W’ IgHT & a1 2

(E) Srgaiaug

DEF-Bl14] 9@
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140

141

Where is the place of origin of Luni river of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Amarkantak

(B) Nagg-Pahar

(C)  Angsi Glacier

(D) Eastern Satpura range

(E)  Question not attempted

TSR 31 AT T o 3] €I el 2
frfaiaa fosredt 7 @ @aifae 3ugw It 91
(A) AHHSH (B) HTT-YRE

(C) stmifems (D) ot wagst st
(E) rgaid o

Which one of the following hot winds blows in
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Khamsin (B) Loo
(C) Chinook (D) Sirocco
(E)  Question not attempted

TSI T 8 a1t T (3907) vae feferfaad § &
F-HT 27

frfaRad fosredt # @ waifae 3ugw 3t 91
(A) THEEH (B)

©) T (D) ot

(E) raid 9

Which of the following is the correct temperature
for cryopreservation of semen in liquid nitrogen?
Choose the most appropriate answer from the
options given below:

9 ol qE ATsgIeH | AT aiweter s o g
HE AT R 8?2

frfafad fasreat 7 @ waffae 3agw® SR T
(A) -19°C (B) -196°C

(C) —296°C (D) -86°C

(E)  Question not attempted / 31@?!'&?[ 99
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A transmissible viral disease ‘Ranikhet’ is a
common disease of:

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
e HeROT TorsTo] STt ThT T feresht e
wTR?

Frifetfia fashed & warifores suge 30 3.
(A) SRt

(B) FAFEH

©
(D)
(E)

Goat
Poultry
Cow
Sheep

Question not attempted

T
oE T
SFANG T

Which of the following is not a component of
bio-gas?

Choose the most appropriate answer from the
options given below:

(A) CH, (Methane)

(B)  Carbon dioxide (CO,)

(C)  Hydrogen Sulphide (H,S)

(D)
(E)
fafafad 9 @ wH-a1 ST-T o U e 7 82
frfafaa faeredt o & @aifae 3ug® ST IA:
(A) ¥ (CH,)

(B)  TeH SESATTEE (CO,)

(C) TSI HCHIES (H,S)

(D) SIS (0,)

(E) SFfaiaws

4 J

Oxygen (O,)

Question not attempted
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145

146

The difference between the compound interest
and the simple interest on a certain sum for 2
years at 10% per annum is ¥ 700. Find the
compound interest on the same sum at the same
rate for 1% years when interest is compounded
half yearly.

e T T2 Y T 10% AT 3 H bl (g A
AT TRV AT | 3w’ T 700 21 36T Tfer ot 3eft
Y 1% I & Tehafg A F1d HL 5 A
JTdaTieh ST BT 2l

(A) T12,337.50 (B) <R 12,211.25
(C) T11,88540 (D) T 11,033.75
(E)  Question not attempted / 31@?!'&?[ BE

At what rate of compound interest per annum will
asum of ¥ 5,000 become T 5,724.50 after 2 years?
Tehd g, TS ohi fohd FTMYaR G T T 5,000 6T THRT 2

9 9T T 5,724.50 & SCHT?
(A 6.5% B) 7.5%
©) 7% (D) 6%

(E)  Question not attempted / ﬂaﬂ'ﬁﬁ 99

What number should be subtracted from each of
15, 28, 20 and 38 so that the resulting numbers
are in proportion?

AT 15, 28, 20 TAT 38 T Teish H § hi-Ht dea
FITS ST fof ST ST wraTer & 22

(A) 6 B) 4
<€ 2

E)

D) 3
Question not attempted / 31@?!‘&?[ 99
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In 2010, which famous folk dance of Rajasthan
was included by UNESCO in its intangible
cultural heritage list?

Choose the most appropriate answer from the
options given below:

(A)
B)
©)
D)
(E)  Question not attempted

2010 H TSR % fohd IR A1k T T Ieah!
(UNESCO) 3 3Tl Hiahicieh eRIet el § AHrerd
[ERIRICIV

frfeiad fospedt # & wafieres 3ug ST
(A) I

(B) @ATA

(C) dTEaret I

(D) FIASHT T

(E) 3rJaid 9

Agni Dance
Dhol Dance
Terah Taali Dance

Kalbeliya Dance

In which folk theatre form is its artist called
‘Behrupiya’ (Impersonator)?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
ToREl TR AT St § SeTTR R Rl STE& U T ST
22

et feebed & & aatfires g ST
(A)

(B) T

(C) THMEd

(D) THRT

(E) Srfaiawd

Swaang
Gavri
Ramavat
Tamasha

Question not attempted
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150

Where is the Keoladeo Ghana National Park
located?
Choose the most appropriate answer from the

options given below:

(A) Bharatpur

(B) Sawai Madhopur

(C) Dholpur

(D) Udaipur

(E)  Question not attempted
HAATST THT TS I Fal e 22
frfafad fasreat # @ waffae 3agw® S0 T
(A) AR

(B) WA AT

(©)  Hg

(D) SR

(E) 3Idia g

Which fort of Rajasthan was referred to as the
‘Second Gibraltar of the World’?
Choose the most appropriate answer from the

options given below:

(A) Nahargarh

(B) Mehrangarh

(C) Taragarh (Ajmer)

(D)  Junagarh

(E)  Question not attempted

TSR o5 fopdt fobet 2l ““forey a1 oy forsttee” e
ST 27
frfafad fosreat # @ watfas sagw S0 TH:
(A) HTEUTE
(B) HEUTE
(C) ARG ()
(D) SrTe
(E) I o
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